Test G

LISTENING Section 1

1 Answer: Grieves/Anna
Note The form requires last and first names. The woman
gives both, and in this case in that order. She spells out her
last name and confirms the double ‘N" in ‘Anna’.

2 Answer: Holiday World
Note The man asks Anna ‘where you heard about’ Go-Travel,
which matches ‘source of enquiry’ on the form. Anna's reply
(it was your advertisement’) matches 'saw ad’. ‘Magazine' is
written on the form, so you should not repeat it, particularly
since you are told to write no more than two words,

3 Answer: FT4551
Note 'Reference’ matches ‘code’ on the recording. You need
to be prepared for the various ways of saying such
combinations of letters and numbers.

4 Answer: 3
Note Anna and two friends makes a total of three.
Mathematics is not necessary, as you are told the actual
number.

5 Answer: August 16
Note Anna also refers to the ‘end of August’, but this is when
she needs to return by, nat when she needs to depart (‘going
on').

6 Answer: 11
Note Darren mentions three possible numbers of nights, out
of which Anna chooses ‘the middle one’.

7 Answer: Super
Note Darren lists three available types (‘'levels’) of insurance,
Anna rules out the first, Standard, and selects ('let's say’)
Super.

8 Answer: G
Note Having said no to option E, picnic lunches {‘we'd leave
that'), Anna agrees to option G ('is a must’).

9 Answer: A
Note Anna says no to option D {"we’ll pass on the night bus

oneg’) and option C {‘museums aren’t really my sort of thing').

But she says yes to option A (‘the demonstration of local arts
could be fun’).

10 Answer: F
Note Anna says yes to option F (‘'sounds delightful ..."), but
says no to option H (‘well, sitting in a coach on those
winding roads ... '), which Darren confirms with ‘I
understand'’.
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LISTENING Section 2

11 Answer: 1992
Note It is important to read the page of notes you are
required to complete carefully. Question 11 is about when the
charity was ‘set up’. The recording mentions 1987 (when the
founder tock up running) and 1997 (when the runs were
being filmed). It is in 1992 that the charity was 'set up’
[‘established’).

12 Answer: hospital
Note ‘Aim’ matches ‘with the idea that’ on the recording. The
money goes to the hospital; people who are unwell will then
(presumably) benefit.

13 Answer: numbers
Note This is the correct answer, which fits the space both
grammatically and logically. Neither ‘ideas’ nor ‘standard’
would fit. Here, ‘supply’ matches ‘reproduce’ on the
recording.

14 Answer: train
Note The space requires a verb, and one that can go before
‘together’. We are told that teams do not ‘compete side by
side’ but that they 'should’ {'we do recommend’) ‘train as a
group’.

15 Answer: food and drink
Note The space requires a noun or nouns. You should not try
to make ‘eat and drink’ fit, but you must write ‘food and
drink’. ‘Enough’ matches ‘sufficient’ on the recording.

16 Answer: main square
Note You need to pay attention to prepositions here. 'In’ goes
only before 'main square’ on the recording. The ‘race’
{‘course’) goes ‘through’ the town and park. ‘Finish’ matches
‘concluding’ on the recording.

17 Answer: minister for health
Note The note here is about who gives the prizes. One prize
{only) has been donated by Zoom Fashions. The Mayor will
make a speech, but does not give the prizes to the runners -
only the Minister for Health does that.

18 Answer: C
Note Option C is recommended: ‘A sponsored swimming
event ... did very well’. Options B and F are not
recommended, although they are mentioned on the
recording: "Selling home-made cakes and bread’ and ‘a large
picnic’ ‘failed to justify the efforts put into them'.

19 Answer: A
Note Option A is recommended: ‘It is possible to raise useful
funds by selling ... badges’. Option G is neither
recommended nor advised against (and so does not answer
the question correctly): 'We're currently checking to see’.
Option | is not recommended: ‘The returns have not been
very high on this'.

20 Answer: H
Note Option H is recommended: It ‘went very well, and it
would be good to see more such activities'. Option D is
neither recommended nor advised against (and so does not
answer the question): “We’ll have to see how plans for that
progress’.

LISTENING Section 3

21 Answer: A
Note The guestion matches ‘people’s names in terms of
culture’ on the recording. The conclusion to include this is
reached across things that all three speakers say.
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Answer: B

Note The question matches ‘ways in which naming practices
are similar across different languages’ on the recording. Joe
expresses reservations about this (‘not sure ... ') which
Angela supports {‘maybe you need ... ), so its inclusion is
neither sure nor ruled out.

Answer: A

Note The question matches ‘what first names mean’ on the
recording. All three speakers express enthusiasm about the
idea, and Joe confirms its inclusion by saying he will enjoy
creating the projection slides for it.

Answer: C

Note The question matches ‘place names’ and 'sea ... ' on
the recording. Martin is critical of the suggestion, and Joe
concedes (‘perhaps you're right’), so the conclusion is that it
will not he included.

Answer: B

Note The question maiches ‘the way migrants often used to
name places after somewhere in their country of origin’ on
the recording. Martin is critical or doubtful about its
inclusion, and Angela and Martin agree that he should wait
until he decides whether to include it or not —in other words,
he might include it.

Answer: A

Note The question matches ‘country names, the origins of
those’ on the recording. All three speakers find this
interesting, and Joe's idea of projecting a map of the world
during the presentation is supported (‘that seems a foregone
conclusion’], so that it is clear this topic will definitely be
included.

Answer: meaningless words

Note ‘Many’ words in the summary matches 108 words’ and
‘the list’ on the recording. Once you have identified
‘common’ in the summary as matching ‘ordinary’ on the
recording, the sequence of types of words is clear.

Answer: capital letters

Note ‘Shown’ in the summary matches ‘displayed’ on the
recording; ‘easier’ matches ‘more readily’; ‘'identify’ matches
‘recognise’.

Answer: colour/color

Note "Visual features’ on the recording introduces the thing
yvou need to focus on. ‘Helping to store ... " on the recording
matches with this sentence in the summary. Because you
only write two words, you should not try to include for
example’ from the recording.

Answer: associations

Note ‘Create’ in the summary matches ‘conjure up’ on the
recording; ‘within" matches ‘inside’; 'a number of’ matches ‘a
range of'.

LISTENING Section 4
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Answer: spies

Note After the introduction, 'US civil war' in the notes is
repeated on the recording. The idea of ‘replacing’ on the
recording matches 'instead of' in the notes. It would be
wrong to think that something like ‘enemy lines’ was being
replaced.

Answer: maps

Note You must find a word or two words that fit
grammatically as well as logically into the space. The verb ‘to
make' in the notes matches ‘'were employed in the creation
of' on the recording.

Answer: collect data
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Note This is what fits the space in the notes in terms of
grammar and meaning. There are references to "knowledge
and understanding’ on the recording, but they are not precise
enough for the space you must fill.

Answer: climate

Note Something that is ‘part of studies of’ matches the idea
of ‘ongoing investigations into’ on the recording.
‘Instruments’ are used to carry out this research, but are not,
in this sense, part of 'the studies’.

Answer: lift

Note There are various comparisons going on or implied
here - ‘cheaper and safer’, but ‘create’ in the notes matches
‘generate’ on the recording. You need to process the transfer
from 'less’ to (not) ‘as much as’.

Answer: weather protection
Note ‘The first airships’ matches ‘early examples’ on the
recording. ‘Had no’ matches 'didn't provide any'.

Answer: framework

Note ‘Be efficient’ matches ‘work effectively’ on the
recording; ‘needed’ matches ‘have to have'. ‘A’ before the
gap in the notes shows you that you need to write a noun
here, not a verb or adjective.

Answer: airliners

Note You need to find the first of two causes here. ‘Success
of' in the notes matches ‘speed and popularity of on the
recording. The fact that airships ‘appeared superseded’
matches ‘stopped because of’ in the notes.

Answer: crashes

Note You need to find the second of two causes here. ‘Series
of’ in the notes matches ‘number of alarming’ on the
recording. This is in the context of 'the decline of’ the airship
and the fact that this ‘put people off'.

Answer: cargo

Note ‘Becent interest’ in the notes matches the idea that
‘their popularity seems set for a slight revival and in the past
few years there has been renewed attention paid to the
possibility of* on the recording. ‘Transport’ can be a verb or a
noun; on the recording it is a verb and would not be a correct
answer for the space in the notes. The note is about the
specific ‘cargo’, not passenger(s), that may be carried.
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